Mathe — alles was zahlt

Integralrechnung Losungswege 8

Stammfunktionen

Aufgabe 54

Lose mit der Substitutionsmethode.

a) f(—3x+ 12)3 dx
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Mathe — alles was zahlt

Integralrechnung Losungswege 8
Stammfunktionen
Losungen:
Ad a)
e L. _ , _du _ 1
Substitution: u=-3x+12 = u'=-—=-3 = dx=-——du
dx 3
. 4 +12)*
Einsetzen: I(—3x+12)3dx:f—l-u3 du:—lfusdu:—u—+c:—(3x ) +
3 3 12 12
Adb)
Substitution: u=3x —4 = u'= Z—“ 3 > dx=tdu
X
Einsetzen:
[-12-(3x—4)7dx = [-12.u" %du -
= —E 7du =
3
= 1—2 . u76 +C =
18
= §~(3x—4)6+c
= 2 +c
3-(3x—4)°
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